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>>> (executing file "<tmp 1>")
0
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>>> (executing file "<tmp 1>")
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>>> (executing file "<tmp 1>")

you input 100

num=input('input integer>>"') /.input integer>>100

>>> (executing file "<tmp I>")
input integer>>101
more than 100

1
2
3
4
5 P
6
7
8

>>> (executing file "<tmp 1>")
input integer>>99
less than 100
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input time=>=0
AM

>>> (executing file "[E384.py")
input time>>11
AM

time=input('input time>>"')

PN

>>> (executing file "f5384.py")
input time>>12
PM

O WU W=

>>> (executing file "fE2E4.py")
input time>>23
PM

>>> (executing file "[E]284.py")
input time>>-1
e

>>> (executing file "fE1284.py")
input time>>24
e
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foods=['pizza', 'pasta’, 'ramen', 'curry’']

>>> (executing file "<tmp 1>")
pizza
7272272727 paste
ramen
curry

~NO N WN =




LAWY

[FRE6)

2NV} ko) LwAldA V&L el

<
YR FORBZERDLY D OIERICKRRIEE TR 7 LEE> TS

foods=['pizza', 'pasta’, 'ramen', 'curry’']

1
2
3
. 22727272727
6
6

>>> (executing file "<tmp 1>")
curry
ramen
pasta
pizza
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>>> (executing file "<tmp 4>")
input integer>>0
even number

>>> (executing file "<tmp 4>")
input integer>>1
odd number

>>> (executing file "<tmp 4>")
input integer>>2
even number

>>> (executing file "<tmp 4>™)
input integer>>3
odd number
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>>> (executing Tile "<tmp 5>")
input month you was born>>3
spring

>>> (executing file "<tmp 5>")
input month you was born>>6
summer

>>> (executing file "<tmp 5>"
input month you was born>>9
autumn
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>>> (executing file "<tmp 5>")
input month you was born>>12
winter

>>> (executing file "<tmp 5>7)

input month you was born>>13
777
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1 menu=['ramen', 'curry', 'udon', '"gyudon']
2 size=['large', 'medium’', 'small’]
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>>> (executing file "<tmp 1>")

ramen
ramen
ramen
curry
curry
curry

large
medium
small
large
medium
small

udon large
udon medium
udon small
gyudon large
gyudon medium
gyudon small
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>>> (executing file
input integer>>8
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n{tmp 1}n)

>>> (executing file
input integer>>4
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>>> (executing file "<tmp 1>")

input integer>>10

100

input integer>>8

80

input integer>>-5

-50

input integer>>0

end

>>>
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input
input
input
input

>>>

total=

>>> (executing file

number>>10

number>>20

number>>30

number>>0
60

”ﬁtmp 1>n)

>>> (executing file

input
input
input
input
input
input

number>=>1
number>>2
number>>3
number>>4
number>>5
number>=0

total= 15

S>>

"{tmp 1>II )

LEd,
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>>> (executing file "<tmp 1>") >>> (executing file "<tmp 1>")
input number>>10 input number>>60
input number>>20 input number>>70

input number>>=50
input number>>=90
input number>>10
input number>>20
input number>>0
>>> average= 50.0

input number>>30
input number>>0
average= 20.0

=
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>>> (executing file "<tmp 1>") >>> (executing file "<tmp 1>")
input number>>100 input number>>4
input number>=0 input number>>2
input number>>200 input number>>7
input number>>50 input number>>5
input number>>90 input number>>9
input number>>-1 input number>>-1
max= 200 max= 9
>>> >>>
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list=[o0,-8,-1,-2,-3,4]

print(min)

list=[10,2,9,5,0,6,4,3,8]

print(min)

>>> (executing file "<tmp 1>")

-8

>>> (executing Tile "<tmp 1I>7)
0]
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list=[5,3,4,6,2]

??2?77?77?77 >>> (executing file "<tmp 1>")
[2, 3, 4, 5, 6]

print(list)

list=[-3,2,9,0,1,-5,3]

2727777 >>> (executing file "<tmp 1>")
£ ¢ ¢ 0 [-5, -3, 0, 1, 2, 3, 9]

print(list)
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>>> (executing file
input integer>>(
[©]

input integer>>5
[5, 0]

input integer>>4
[5, 4, 0]

input integer>>7/
[7, 5, 4, 0]

input integer>>7/
[7, 5, 4, 0]

input integer>>end

”{tmD 1}u]

=>> (executing file

input integer=>>=8
[8]
input integer==6

[8, 6]
input integer>>10
[16, &, 6]

input integer>>3
[16, 8, 6, 3]

input integer>>7/
(16, 8, 7, 6, 3]
input integer=>6
(16, &, 7, 6, 3]
input integer>>9
[l1e, 9, 8, 7, 6,
input integer>>0

31
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(10, 9, 8, 7, 6, 3, 0]

input integer==en

d
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